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1. Mughal Empire  

2. Article 370  Related 

3. Govt. of Kerala 

4. Kalvelia Dance  State 

5. 2 book & author 

6. Chemistry 2 Nobel Prize 

7. Raman Effect 

8. Khelo India Youth games venue 

9. Father of Bangladesh renaissance. 

10. Which country killed Solemani. 

 

Error Detection – 2Q. 

 Simple future tense  

 Future Tense 

Spelling –  

 Deliver 

 Deserve  

 Influence 

 Despair 
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Synonym – 1Q 

 Exempted  

 Furious 

Idiom & Phrase – 1Q 

 Hold the water 

Cloze test -5Q (Vocab) 

 Chocolate factory 

Sentence Error-2Q 

Voice / Narration – 2Q 

 Simple Past Tense 

 

 

Trigonometry – Triplet based  

Sec  + tan = P 
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Table D.I. = 3 

 

Time & work – Men & Women 

Speed Time & Distance 

Algebra  2 – Tough 
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An article is sold at a profit of 8% after getting a discount of 20%. Find the ratio between cost 

price and mark price of the article. 
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Simplification: 

Area of a regular Hexagon is 400 3 m2 find the price of fencing it if price of fencing 16.8 rupees 

per meter.  

 

Analogy – 

 Dentist : doctor :: chemistry: ?  

 

Kindly Verify these Questions… 
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